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35 . — &M@ I ERE

15N S IRSE(ESD)

fk5EH m B MEER| Bl | HE| £8 HE | 28 | ¥=E | 5 &%
4R1B|A4F3 B 200 | 67| 13400 0 67/ 13,400
4R1B|7RNGHR  [IRIE 100| 37/ 3,700 0 37 3,700
AA3B|TRANSHR IR 100/ 17| 1,700 0 17| 1,700
4R58|7RINTHR IR 100| 32 3,200 32 3,200 0 0
4R58|4Fd B 200/ 69| 13,800 69 | 13,800 0 0
4H8H[4FT Fx 200| 66| 13,200 66 | 13,200 0 0
AA8H|TANTHR IR 100/ 35| 3,500 31 3,100 4 400
4R10B|[7R/INGHR  |IRIE 100 31| 3,100 18 1,800 13| 1,300
48108 |RalFY-o3R WE 600/ 84| 50,400 26 [ 15,600 58| 34,800
48118 [RIFYSIR WhE 600/ 16| 9,600 5 3,000 11] 6,600
4R128|4F3 B 200/ 102| 20,400 81 [ 16,200 21] 4,200
4R12B|[TFRINGHR  |IRIE 100 24| 2400 24 2,400 0 0
4R158|4F3 B 200/ 55| 11,000 34| 6,800 21[ 4,200
4R15B|[TRINGHR  |IRIE 100| 27/ 2,700 27 2,700 0 0
AB16B |7 R/INSHR B 100 16/ 1,600 0 16| 1,600
48178 [RIFYoIR E 600/ 40| 24,000 13 7,800 27| 16,200
AR1TB|TRNSHR IR 100/ 32| 3,200 25 2,500 7 700
41987 RINGHR  |IRIE 100  31[ 3,100 30 3,000 1 100
AB19B |7 RINSHR B 100] 24| 2,400 0 24| 2400
48198 |4F3 Fx 200 121] 24,200 70 | 14,000 51| 10,200
A28 |TRINSHR IR 100/ 48| 4,800 48 4,800 0 0
48228 |[4F3 Fx 200{ 92| 18,400 92 | 18,400 0 0
AB23B|7RINSHR B 100] 42 4,200 22 [ 2200 20[ 2,000
42487 RINGHR  |IRIE 100| 27/ 2,700 0 27| 2,700
AB25B|7RINSHR B 100] 54| 5400 29 2,900 25 2500
4H26H |[/4F3 Fx 200{ 110| 22,000 0 110| 22,000
4268 |FRNSHR IR 100/ 32| 3,200 0 32| 3,200
4826 B|7AINSHR  |FE 100 49 4,900 0 49 4,900
&t 276,200 137,400 138,800
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nl=| &= B HRESL | Hif He *% HE *%5 HE *% &5
5A78|7RINSHR BFx 100 66 6,600 66 6,600 0 0
5A78|4FT Fx 200 57| 11,400 33 6,600 24 4,800
5878 |7AR/8SHR fi-3e) 100 25 2,500 2 200 23 2,300
5A108 |7 R/SSHR B 100 28 2,800 28 2,800 0 0
58108 [/4Fd (e 200 34 6,800 34 6,800 0 0
5108 |7 R/S5HR Fx 100 80 8,000 80 8,000 0 0
5A13B|7RINSHAR Fx 100 62 6,200 62 6,200 0 0
58138 [«/(F3 Fx 200 19 3,800 19 3,800 0 0
58138 |7 R/NSHR fi-3e) 100 32 3,200 0 32 3,200
5A158 |7 R/SSHR Bt 100 17 1,700 0 17 1,700
5A17H [RalFY >R WhE 600 22| 13,200 9 5,400 13 7,800
5A17B |7 R/S5HR B 100 100 10,000 90 9,000 10 1,000
58178B|7R/INSHR fi-3e) 100 12 1,200 0 12 1,200
5208 |7 R/SSHR B 100 13 1,300 0 13 1,300
5A21B|7RINSHAR Fx 100 58 5,800 58 5,800 0 0
58238 [falEY iR BE 600 46| 27,600 2 1,200 44| 26,400
5A24H [falEY >R WhE 600 12 7,200 12 7,200 0 0
5248 |7 R/S5HR [ 100 35 3,500 35 3,500 0 0
58278 [/NERAH Fx 200 12 2,400 0 12 2,400
527B |7 R/S5HR B 100 31 3,100 31 3,100 0 0
58288 |/NERAH Fx 100 16 1,600 2 200 14 1,400
58288 |/NEXAAH Fx 200 67[ 13,400 32 6,400 35 7,000
58298 |R4F Fx 400 24 9,600 23 9,200 1 400
58298 |RAF Fx 500 14 7,000 14 7,000 0 0
58298 |/NERAH BFx 200 29 5,800 0 29 5,800
58308 |/NEXAAH Fx 200 11 2,200 0 11 2,200
58318 |23 1rX RiE 200 52 10,400 0 52 10,400
5A31H|70vyal)— Fx 150 23 3,450 0 23 3,450
5A31B|7RINSHAR Fx 100 56 5,600 0 56 5,600
5A31H|RAH Fx 400 9 3,600 0 9 3,600
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
& 190,950 99,000 91,950
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#R5EH @B MEER| Bl | =S| £58 HE £%8 HE £%8 &%
6 H3H|[7R/INSHR B 100 | 29 2,900 29 2,900 0 0
6A3H(JOvay— xR 150 26| 3,900 26 3,900 0 0
6 348 |RX1A B 400[ 27/ 10,800 27 10,800 0 0
6 H4H|[RA1A xR 500 6| 3,000 6 3,000 0 0
6 A58 |R(A B 400 1 400 0 1 400
6 A5H[RX1A xR 500 8| 4,000 0 8 4,000
6858 (JOval— Fx 150 32| 4,800 29 4,350 3 450
6 H6H[R1H B 400/ 10| 4,000 0 10 4,000
6 368 |X1A B 500 2| 1,000 0 2 1,000
6 7H[RALA B 400 89| 35,600 60 24,000 29[ 11,600
678 |RALA B 500/ 98| 49,000 50 25,000 48[ 24,000
6 7H[ZR/INTHR Fx 100] 37| 3,700 37 3,700 0 0
6878 (JOvay— Fx 150 33| 4,950 20 3,000 13 1,950
6 A108 | XM B 400 19| 7,600 2 800 17 6,800
6 108 |XMH B 500/ 75| 37,500 47 23,500 28 14,000
68108 (7 Oyal)— xR 150 30| 4,500 26 3,900 4 600
68108 |7R/INSHR B 100] 15| 1,500 0 15 1,500
6811 H[RM—ha—> RiE 200/ 35| 7,000 0 35 7,000
6118 |RMH B 500/ 20| 10,000 0 20[ 10,000
68128 (7 @yal)— B 150 33| 4950 26 3,900 7 1,050
68128 |7R/INSHR B 100 25| 2500 0 25 2,500
68138 [RA/—ha—> RiE 200 81| 16,200 40 8,000 41 8,200
68178 |7R/INSHR B 100 20| 2,000 18 1,800 2 200
68178 (7 nyal)— B 150] 45| 6,750 21 3,150 24 3,600
68198 |7R/INSHR B 100| 12 1,200 0 12 1,200
68198 [JOyal)— B 150 28] 4,200 18 2,700 10 1,500
68218 |7R/INSHR B 100 14| 1,400 0 14 1,400
6A218[JOyal— B 150 15| 2250 0 15 2,250
6268 |X1H B 400 16[ 6,400 0 16 6,400
6268 | X1 xR 500 9] 4500 0 9 4,500
6288 |XMH B 400 19[ 7,600 0 19 7,600
6H28H|2A% xR 500/ 4| 2,000 0 4 2,000
E 258,100 128,400 129,700
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26, — A THRSE | IFAB S BRFE(ZES]

#R5EH R Hifi | %8 | £% HE &% = &% &5
7A18|R4A 400 60 [ 24,000 29[ 11,600 31 12,400
7R1H[RMA 500 16] 8,000 8 4,000 8 4,000
7828 |RX4A 400 58| 23,200 27 10,800 31 12,400
1R28(R{LA 500 32[ 16,000 32 16,000 0 0
1R3B |7 RINSHR 100 38| 3,800 28 2,800 10 1,000
1H48H(RX{1A 400 33| 13,200 7 2,800 26/ 10,400
7H48 |44 500 69| 34,500 53 26,500 16 8,000
1A58|FRINSHR 100 27[ 2,700 27 2,700 0 0
1858 (R4/—bka—> 200/  134| 26,800 78 15,600 56/ 11,200
7A8H[RA{—ka—> 200 176 35,200 76 15,200 100[ 20,000
1A8H |7 R/INSHR 100 39| 3,900 32 3,200 7 700
7A8H|[RALA 400 7| 2800 0 7 2,800
7A88|RA4A 500 30[ 15,000 0 30[ 15,000
7R9H([R{1A 400 5| 2,000 5 2,000 0 0
7H98|R4A 500 60| 30,000 44 22,000 16 8,000
7B10B[7RINSHR 100 25 2,500 23 2,300 2 200
7H108[RA4H 500 40 20,000 27 13,500 13 6,500
1812B[ZRINSHR 100 26| 2600 0 26 2,600
7168 |7 R/IN\SHR 100 28| 2,800 22 2,200 6 600
7H16 8| R4 400 12| 4,800 3 1,200 9 3,600
7H16H[RAH 500 59| 29,500 46| 23,000 13 6,500
7H188| R4 400 2 800 0 2 800
7H18H[RAH 500 10| 5,000 0 10 5,000
1198 (7 R/INSHR 100 24| 2400 14 1,400 10 1,000
1228 |7RINSHR 100 35 3,500 0 35 3,500
7H228| R4 400 2 800 0 2 800
1H228 (R4 500 22| 11,000 0 22 11,000
70238 | R4 400 18] 7,200 4 1,600 14 5,600
7H23H[RAH 500 87| 43,500 56| 28,000 31 15,500
182487 RINSHR 100 23| 2300 0 23 2,300
70268 |7 R/INSHR 100 22| 2,200 0 22 2,200
7298 (7 R/INSHR 100 25| 2500 0 25 2,500




35 . — k[T HR 5T

15N S R TE(ZE5)

&5 #He +E #He= &%
T AINSGHR 1,500 0 15 1,500
&t 386,000 208,400 177,600
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Rz H 28 HRER| s | gE| €4 | HE | 8 | HE | W | @
8H2H[F7R/INTHX RiE 100 17 1,700 0 17 1,700
8H2H|EXH Rt 300 27 8,100 0 27 8,100
8H5BH|7R/INSHR RiE 100| 22 2200 0 22 2,200
8A6H|[ > TYRD Y |fEE 200 11| 2200 0 11 2,200
8H6R|BE=H R 300/ 56| 16,800 37 11,100 19 5,700
8H7H|[ESOM BH 300/ 38 11,400 30 9,000 8 2,400
8ATH[FZRINTZHX RiE 100 10| 1,000 0 10 1,000
s8R Y TyRD Y |fEE 200| 48| 9,600 19 3,800 29 5,800
8A8H|EI& BWE 400| 54| 21,600 0 54| 21,600
8H8H|EA—% Wi 500 68| 34,000 45 22,500 23| 11,500
8H8H|[ExOH B 300] 71| 21,300 49 14,700 22 6,600
8A8H|[ Y TyRD Y |fEE 200| 74| 14,800 34 6,800 40 8,000
8H9H[FR/INTSHX RiE 100 13| 1,300 0 13 1,300
8H9H [ TYRD Y |fEE 200 27| 5,400 0 27 5,400
8R13B | TRl |fEE 200 30| 6,000 0 30 6,000
8H16H|F7R/INTHXR R 100/ 12| 1,200 0 12 1,200
8H16H|S=k<k Fx 200/ 26/ 5200 0 26 5,200
8H16H|HFEITE Fx 200 4 800 0 4 800
8H16H|&E e 250 16| 4,000 0 16 4,000
8H 168 |F#HK Rt 250/ 16| 4,000 0 16 4,000
8H19B|7R/NSTHR  |IBiE 100 17| 1,700 17 1,700 0 0
8H19H [SEK et} 300| 107| 32,100 63 18,900 44| 13,200
8A198|S=kTk B 200 39| 7,800 21 4,200 18 3,600
8H19H |HFEITE Fx 200 4 800 0 4 800
8H20H |F#K Rt 250 62| 15,5500 38 9,500 24 6,000
8H20H|Ei% Wi 400{ 90| 36,000 27 10,800 63| 25,200
8H218|7R/INTHR RiE 100] 14| 1,400 0 14 1,400
8H228|3=F<k Fx 200| 65| 13,000 25 5,000 40 8,000
8H22H [ ErTH B 200 14| 2,800 9 1,800 5 1,000
8H23H [FEK et} 300 73| 21,900 51 15,300 22 6,600
8H23H |fAXK et 300( 24| 7,200 0 24 7,200
8H26H[7R/INTHR R 100 21| 2,100 21 2,100 0 0
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Rz H 28 HREs|wifi|gE| £4 | HE | S8 | HE | W | @
8A26H |k e 300| 102| 30,600 85 25,500 17 5,100
8H27H |#AE et} 300{ 83| 24,900 34 10,200 49| 14,700
8H27H [ ErTH B 200 20| 4,000 8 1,600 12 2,400
8H27H|3=F<k Fx 200| 49| 95800 14 2,800 35 7,000
8H28H |7 R/INTHR RiE 100 18] 1,800 0 18 1,800
8H29H [ EFTH Fx 200 24| 45800 20 4,000 4 800
8H29H|S=kTh Fx 200/ 33| 6,600 3 600 30 6,000
8H30H|[FR/INTHR R 100 8 800 0 8 800
8H30H 2K Rt 300( 14| 4,200 0 14 4,200
8H308 ;7 A et} 300 23| 6,900 0 23 6,900
8H30H |FTHR it 300[ 83| 24,900 0 83[ 24,900
&t 434,200 181,900 252,300
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fR5EH i B MirEs| Hifi | 2| £5 | 85 | £% | = | 28 &%
9H2H &K Rt 300 20( 6,000 20 [ 6,000 0 0
9A2H (2K ESE 600 5] 3,000 0 5| 3,000
9A28 |FHR Rt 400 96/ 38,400 57 | 22,800 39| 15,600
9A28 %A e 300[ 53| 15,900 46 | 13,800 7| 2,100
9H3H|E=k<F Fx 200 40| 8,000 11 2,200 29 5,800
9A3H[RErTH i 200 27| 5,400 27| 5,400 0 0
9H4H &K Rt 600 11] 6,600 0 11| 6,600
9A4B |FHR Eil 300 12| 3,600 0 12| 3,600
9A48 |MHR Rt 400 26| 10,400 0 26| 10,400
9A5B | ¥ AR ANV E 500( 37| 18,500 0 37| 18,500
968 |HFERTE Fx 200 16/ 3,200 16 3,200 0 0
9F6R|S=F<hr B 200[ 30| 6,000 9| 1800 21| 4,200
9A6H[EZLM Rt 300 21| 6,300 17 5,100 4] 1,200
9H6H |2k e 600[  30[ 18,000 15| 9,000 15[ 9,000
9H9BH|HFERTE Fx 200 14| 2,800 14 2,800 0 0
9F9R|S=FTh B 200( 30| 6,000 20 | 4,000 10[ 2,000
9A 108 |HEDE Rt 300 28| 8,400 0 28| 8,400
9A 108 [HEDE et 600[ 20| 12,000 0 20| 12,000
9A11B|HEDE Rt 300 68| 20,400 56 [ 16,800 12| 3,600
9IANB[HEDE et 600 11] 6,600 11 6,600 0 0
9IANB | YA RRAAVNE 400 27| 10,800 0 27| 10,800
IANB[FUTU A |BHE 100] 20| 2,000 16 | 1,600 4 400
98138 |/NEZX(AH B 100 11[ 1,100 4 400 7 700
9R13H[!NERALH Fx 150 17] 2,550 17 2,550 0 0
9SABBHE|FYT YA |HXE 100 33| 3,300 14 1,400 19] 1,900
9A138|S =<k S 200( 30| 6,000 19| 35800 11] 2,200
9138 [hERTE Fx 200 6] 1,200 0 6] 1,200
913 |HR e 400 16| 6,400 9| 3600 7| 2,800
9A13H|MHER Rt 800 18| 14,400 8 6,400 10| 8,000
98138 |REF Eil 100] 43| 4,300 12| 1,200 31] 3,100
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BR5EH 1= Hifi | 2 HE | 28 | ¥E | &5
9B17B[/NERAAH 100 14 0 14| 1,400
9A17B[/NERAAH 150/ 60 52 | 7.800 8] 1,200
9178 [F¥AY 150 42 24 | 3,600 18] 2,700
9A17TH|MHER 400| 135 78 | 31,200 57| 22,800
9F 188 [RHR 400 5 5[ 2,000 0 0
9A 188 [ Y1 RAVE 300] 31 0 31 9,300
9g188[FERTE 200 32 25| 5,000 7| 1,400
9F188[Z=k<k 200[ 20 20 | 4,000 0 0
9198 | =+ 300 80 27| 8,100 53| 15,900
9A19B |FAHR 400 87 27| 10,800 60| 24,000
9g208[FERTE 200 18 18| 3,600 0 0
9F208[Z=k<k 200 27 26 | 5200 1 200
98208 [F¥AY 150) 83 51 7,650 32| 4,800
9A208 [>T yR™ Y 200 35 2 400 33| 6,600
9A208 | =+ 300 21 13| 3,900 8| 2400
9208 | =+tH#d 600 37 10 6,000 27| 16,200
9H208 [fHR 400 18 18| 7,200 0 0
9F248[/NERAAH 100 12 0 12| 1,200
9B248[/NERAAH 150 11 0 11] 1,650
9A248 | ¥Ry 150) 75 16 | 2400 59| 8,850
9B248[FERTE 200 12 0 12| 2,400
9248 |[E—<> 100] 24 0 24| 2,400
9F248 [RAHR 400 58 19 | 7,600 39| 15,600
9A248 |BHR 800 22 9 7,200 13| 10,400
9A258 |2 v 1R RAAVH 300 42 24 | 7,200 18] 5,400
9A25H |MHR 400 14 9 [ 3600 5| 2,000
9A258 |MAHR 800 7 4| 3200 3] 2400
9A278 |F ¥ Y 150] 56 14| 2100 42| 6,300
9g278[hERTE 200 11 0 11] 2,200
9F278[Z=k<k 200( 40 37| 7.400 3 600
&t 267,600 307,400
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BR5E H i B Hiffi | %5 HE | 28 | ¥E | &5
10818 |FvRY 150 | 76 44| 6,600 32| 4,800
10818 |FEFTE 200 12 0 12| 2400
10A28 |3 =FTk 200( 40 34| 6,800 6] 1,200
10838 [|a~xvs 100/ 54 0 54| 5400
10838 | TyRD Y 200 22 11 2,200 11] 2,200
10848 |FvRY 150] 38 26 | 3,900 12| 1,800
10448 | HX 300 70 0 70| 21,000
10848 |a~x VY7 100/ 28 23| 2,300 5 500
10448 |7avyal— 150 14 0 14 2,100
10848 |FEFTE 200 13 0 13] 2,600
10848 |3 =F7k 200| 26 22 | 4,400 4 800
10878 | > TyR™D Y 200] 20 7| 1,400 13] 2,600
10878 |78yal)— 150 25 25 3,750 0 0
10A8H|FEFTE 200] 23 17| 3,400 6] 1,200
10888 [ > TyiR™m Y 200 11 0 11| 2,200
10888 |FvRY 150] 23 11 1,650 12| 1,800
10A9H|7Avyal— 150) 45 22 | 3,300 23| 3,450
10A9H|E—=> 100 14 0 14| 1,400
10898 |¥EAER 400 37 0 37| 14,800
105108 [ & Fk 200 67 67 | 13,400 0 0|
108 10H [FEKER 400 50 50 | 20,000 0 o[22
108 11 B [#8XE} 400 96 48 | 19,200 48 19,200
10811H[E =k 200| 65 26 | 5,200 39| 7,800
10A11B|hERTE 200 25 0 25| 5,000
10811 B[FvAY 150] 30 18| 2,700 12| 1,800
10118 |[Fayaly— 150/ 48 30| 4500 18] 2,700
10A 158 [#EAER 400| 154 59 | 23,600 95| 38,000
10A158|Fayal— 150/ 40 31 4,650 9] 1350
108158 | ErTH 200 19 15| 3,000 4 800
108158 [F ¥y 150) 35 22 | 3300 13| 1,950
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gR7EH i B MirEs| Hifi | 2| £5 | 85 | £% | = | 28 &%

108158 (S =F<b Fx 200 40| 8,000 12 2,400 28| 5,600

10816H|[E—<> R 100 9 900 0 9 900

108168 |#EAER el 400 20 8,000 19 7,600 1 400

10816 H [#EA AR ESE 800 8| 6,400 0 8| 6,400

10816H[HA Rt 300 47| 14,100 34 | 10,200 13] 3,900

108188 [F¥AY Fx 150) 22| 3,300 12| 1,800 10[ 1,500

108188 | ERTE Fx 200 6] 1,200 0 6] 1,200

108188 |7 avyal)— BFx 150) 50| 7,500 31 4,650 19 2850

10818H[S=F<E Fx 200 30| 6,000 28 5,600 2 400

104218 |7 ayal— BFx 150) 31| 4,650 31 4,650 0 0

10821 H|[F ¥y B 150 5 750 0 5 750

10A218[Z=k<F Fx 200| 28| 5,600 24 | 4,800 4 800

104238 |7 ayal— B 150) 28| 4,200 0 28| 4,200

104238 |FHE RH 300[ 48| 14,400 21 6,300 27| 8,100

108248 |$iE EEl 300 50| 15,000 50 | 15,000 0 0|Amt3IF—

104248 [#EAER ][R 300] 99| 29,700 99 | 29,700 0 o[BI —

10H 248 | Bk AR 200 87| 17,400 87 | 17,400 0 0|BEtEIS—

108248 [ ][R 300[ 71| 21,300 71| 21,300 0 o[BI —

10A258 |7 ayal— B 150 15[ 2,250 15| 2250 0 0

108258 | EFTH S 200( 22| 4400 21 4,200 1 200

108258 (S =F<E Fx 200 39| 7,800 21 4,200 18] 3,600

104288 [#EAER SR 300[ 80| 24,000 45| 13,500 35| 10,500

104288 |Fayal— B 150) 60| 9,000 39| 5850 21| 3,150

104288 |FE Eil 300[ 46| 13,800 29 | 8,700 17[ 5,100

108298 | Rt 300 7| 2,100 0 7 2,100

10A31H|#E AR 200  120] 24,000 113 | 22,600 70 1,400\ KBS —

108318 Tyl |fEx 200[ 96/ 19,200 75| 15,000 21] 4200/ A5+ 4—

104318 [#EAER ][R 300] 94| 28,200 94 | 28,200 0 B

10831 H [ ARk AR 300 58| 17,400 58 | 17,400 0 0| KRIFtIF—

10831 H [Fifk AR 200 70| 14,000 70 | 14,000 0 O|AIFtZF—

10A318|ERE 5k 200[  160] 32,000 160 | 32,000 0 0| &XiGtIF—
=t 656,650 438,550 218,100
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5%, —#R A FER5E [3EANEE RFE(ES]
BR5T H &n B MrEs BEif | #s | €% | %= | €% | = | &5 &
11A18|#HE el 300 2 600 2 600 0 0
AR |#E AR 200 12 2,400 12| 2,400 0 0
A1H[S=kIE Fx 200 30 6,000 0 30[ 6,000
11A1B[dErTH Fx 200 9 1,800 0 9] 1,800
11A18|78ayal)— Fx 150 49 7,350 14 2,100 35| 5,250
11A58(7Ooyay— Fx 150 48 7,200 15| 2,250 33| 4,950
1A | Y E RE 200 19 3,800 0 19/ 3,800
11A6H | A Rt 200 57| 11,400 0 57| 11,400
11A6B|[EF Rt 200 50| 10,000 50 | 10,000 0 0|BEtI4H—
11A6B | H# AR 200 43| 8,600 43 8,600 0 0|3EtIF—
1MA6B|ZRARE AR 300 45| 13,500 45| 13,500 0 0|3EtIF—
11A68 | K# AR 300 56| 16,800 56 | 16,800 0 0|3EtIF—
11A6H |FEAER AR 300 92| 27,600 92 | 27,600 0 0|BEtI+—
11A78|K# AR 300 10[ 3,000 10 3,000 0 0
A7 |#= AR 200 13| 2,600 10 2,000 3 600
11878 [#EXAR AR 300 62| 18,600 35| 10,500 27| 8,100
HATH[ Y TyRD Y |TEE 200 20 | 4,000 5 1,000 15[ 3,000
11A8B[RINZHY Rt 200 23 | 4,600 0 23| 4,600
11A8H|FERTE Ehed 200 9| 1,800 0 9] 1,800
11A8B|[3S=kTk Fx 200 50| 10,000 42 8,400 8] 1,600
11A8H|7Oval)— Fx 150 25| 3,750 14 2,100 11/ 1,650
11A8H|FEE Rt 200 135| 27,000 55| 11,000 80| 16,000
11A118|78yal)— B 150 50| 7,500 13 1,950 37| 5550
11A11H|$FE Rt 300 30/ 9,000 30 9,000 0 0
NANBR|FAAE R 300 55| 16,500 23 6,900 32| 9,600
11A12H|REARE4E AR 300] 104[ 31,200 45| 13,500 59| 17,700
118128 |RbvY EE 200 10[ 2,000 0 10[ 2,000
11A13H|RARE4E AR 300 14| 4,200 0 14| 4,200
11A13H[BIMNZH Rt 200 45( 9,000 11 2,200 34| 6,800
11148 |RHE4E AR 300 40| 12,000 12 3,600 28| 8,400
118148 |FE Rt 400 14| 5,600 14 5,600 0 0
11A14H| Ry A3 200 12| 2,400 2 400 10/ 2,000
118148 |7 8yal)— Fx 150 50| 7,500 4 600 46| 6,900
1MA14B|FU B A Fx 100 40( 4,000 11 1,100 29| 2,900
11A158(RkYS itz 200 3 600 3 600 0 0
11A15H |RAR4E AR 300 20| 6,000 20 6,000 0
11158 |FERE Fx 200 30| 6,000 0 30| 6,000
1181583 =k<k Fx 200 49 9,800 30 6,000 19[ 3,800
11188 | =8 AR 200 19] 3,800 0 19] 3,800
118188 (7 ovay— Fx 150 49 7,350 18 2,700 31| 4,650




>b. —#&@E I+ BR5E

1S5RS IRFE(ES)

HR5E H &n B MEER| Hif E| B8 | 85 | £ | 5 | €8 &
11A18H|S=F3F Ehed 200 10[ 2,000 0 10[ 2,000
11188 | > TyRD Al [FEE 200 11| 2,200 7 1,400 4 800
118188 |E—<> RiE 100 30] 3,000 0 30| 3,000
11B18H | F#&E AR 200 45| 9,000 35 7,000 10/ 2,000
1MA19B|FU B A Fx 100 75| 7,500 9 900 66| 6,600
11A19H| Ry A3 200 16/ 3,200 2 400 14| 2,800
1A198 | TyR™mal) [FTEE 200 1,000 1 200 4 800
11A198 | F&E AR 200 1,000 5 1,000 0 0
113208 |RkvY e 200 1,800 4 800 5| 1,000
11208 | 7yRDal [fEE 200 800 1 200 3 600
11H208|70vyal)— Fx 150 12| 1,800 3 450 9] 1,350
11A208|F+HAE RiE 300 54| 16,200 11 3,300 43| 12,900
1MA218|FA4%E RE 300 6] 1,800 6 1,800 0 0
11A21HBMNISHY Rt 200 77| 15,400 67 | 13,400 10[ 2,000
11A218|[FAmE &t 200 29| 5,800 24 4,800 5] 1,000
11A22H |EHHM AR 200 32| 6,400 23 4,600 9] 1,800
118228 |RHES AR 300 29| 8,700 23 6,900 6] 1,800
11A25H |EHHM AR 200 3 600 3 600 0 0
11A25H |RHAESE AR 300 9] 2,700 8 2,400 1 300
118258 |[3=k<k Fx 200 15| 3,000 11 2,200 4 800
11H258|70yal)— FFE 150 18] 2,700 14 2,100 4 600
11A258 | T7yRDal [fEE 200 10] 2,000 3 600 7] 1,400
11H258|RbvY EE 200 10/ 2,000 2 400 8] 1,600
11A26H|RXbvS = 200 5| 1,000 0 5/ 1,000
118278 | KRR AR 250 48| 12,000 21 5,250 27| 6,750
118278 [RER AR 200 22| 4,400 18 3,600 4 800
118288 | KRR AT AR 250 2 500 500 0
11 8 28H [RER AR 200 8| 1,600 1,600 0
11H288|70vyal)— Fx 150 25| 3,750 1,050 18] 2,700
11A29H iBINZSHV Rt 200 77| 15,400 0 77| 15,400
11A298 |=FH et 200 42| 8,400 0 42| 8,400
11A298 |[FHAE RiE 300 18] 5,400 0 18] 5,400
i 489,900 249,450 240,450




12 A 715N ERFEAER

35, — k@ (FHRFE

15 E BRSE(ESD

BR5E H i B MrEs| Bifi [ %5 | £% | 5 | €% | HE | £% &5
12828 (Joyay— e 150 38| 95700 21| 3,150 17 2,550
12828|3=r<k Fx 200 15| 3,000 15| 3,000 0 0
1238 [ TyRm A [TEE 200 12| 2,400 5 1,000 7| 1,400
12858 |70yaly— Fx 150 60[ 9,000 8 1,200 52| 7,800
12858 [{Ef#HFR AR 200 30| 6,000 30 6,000 0 0
12A58|E48 Rt 200 41| 8,200 9 1,800 32| 6,400
12A58 |48 AR 200 30[ 6,000 15| 3,000 15 3,000
12898 (Fayal)— Fx 150 11] 1,650 0 11| 1,650
128108 [RbyY s 200 6| 1,200 0 6] 1,200
128108 [E# Rt 400/ 153[ 61,200 60 | 24,000 93| 37,200
128108 |{Ef#RT AR 200 33| 6,600 13 2,600 20( 4,000
128108 |32 AR 200 30[ 6,000 17| 3,400 13| 2,600
128108|2X Rt 100 28 2,800 2 200 26/ 2,600
12811B|4F3 B 300 28| 8,400 0 0 28| 8,400
128128 [RbyY s 200 7| 1,400 4 800 3 600
128128 |32 AR 200 25 5,000 19| 3,800 6] 1,200
128128 |{Ef#RT AR 200 25| 5,000 4 800 21| 4,200
128138 [E# Rt 400 43| 17,200 15 6,000 28 11,200
128138 |{Ef#RT AR 200 37| 7400 14 2,800 23| 4,600
128138 |32 AR 200 22 4,400 17| 3,400 5 1,000
128138 (Fayal— Fx 150 39 5850 35 5,250 4 600
128168 |RAkys UA=3 200 17[ 3,400 7 1,400 10[ 2,000
128168 (Foyal)— Fx 150 38| 5,700 6 900 32| 4,800
128168 |{Ef#RT AR 200 69| 13,800 16 3,200 53| 10,600
128178 |4F3 B 300 27| 8,100 22 6,600 5| 1,500
128178 |{Ef#FT AR 200 19| 3,800 17 3,400 2 400
128208 |7ayal— Fx 150 44| 6,600 23 3,450 21] 3,150
128208 |4F3 B 300 22| 6,600 0 22| 6,600
125208 |LEY R H 200 22 4,400 0 22 4,400
128238 |RAkys UiA=3 200 30/ 6,000 22 | 4,400 8| 1,600
128238 (Foyal)— Fx 150 38| 5,700 23 3,450 15 2,250
128238 |LEY R H 200 20 4,000 0 20[ 4,000
128238 |RlEY-C R 600 10| 6,000 0 10| 6,000
128238 |4F3 B 300 25| 7,500 25 7,500 0 0
128278 |4F3 B 300 55| 16,500 0 55| 16,500
128278 (Foyal— Fx 150 49 7,350 0 49[ 7,350
12H278[RbYY (=3 200 19| 3,800 0 19| 3,800
& 283,650 106,500 177,150




1A 5 NERFEAER

35, — k@ (FHRFE

15 E BRSE(ESD

BR5E H mE MrEs| Bifi [ %5 | £% | 5 | €% | ®E | £% &5
1A6BH[4F3 B 300 77| 23,100 50| 15,000 27| 8,100
1A6H[ZOvyal— Fx 150 45 6,750 12 1,800 33] 4950
1H6H[RbyY UiA=3 200 15| 3,000 6 1,200 9 1,800
1H7H[LEY Rt 200 37[ 7.400 15 3,000 22 4,400
1A78[RbyY UiA=3 200 11| 2,200 2 400 9] 1,800

1H108|4Fd HE 300 62| 18,600 52 | 15,600 10| 3,000

1g108(Fayal)— Fx 150 35| 5,250 18] 2,700 17| 2,550

1148 [4FT Fx 300 78| 23,400 62 | 18,600 16 4,800

1148 |7 0yal— Fx 150 34| 5,100 22| 3,300 12| 1,800

18178 |4F3 e 300 33| 9,900 0 33| 9,900

1HA178|RAkyS 2iA=3 200 23| 4,600 15| 3,000 8] 1,600

18208 |4F3 B 300 70| 21,000 52 | 15,600 18] 5,400

1H218|RAkyY (=3 200 10| 2,000 0 10| 2,000

18228 |70yal)— e 150 45| 6,750 8 1,200 37| 5550

1H248|4Fd Fx 300 88| 26,400 36 | 10,800 52| 15,600

1H248|Akys UA=3 200 11| 2,200 3 600 8] 1,600

18278 (Fayal)— Fx 150 50( 7,500 23 3,450 27| 4,050

18278 |4F3 B 300 81| 24,300 81| 24,300 0 0

1H298|RAkyY (=3 200 9| 1,800 0 9 1,800

1A318|RkyY (=3 200 9| 1,800 0 9 1,800

1R308 [(FT B 300 64| 19,200 0 64| 19,200

H 222,250 120,550 101,700




2 A 5RNERFTAR

26, —R&E (T BR5E | 15 R S BRFE(ES])
fr5EH @B MrEs| Bifi | 88| €5 | 8E | €% | BE | £4 &%
2A3H(Zayal)— Fx 150 50 7,500 32| 4,800 18] 2,700
2R3 [4F3 Fx 300 69| 20,700 69 [ 20,700 0 0
2H7B[4F3 e 300 55| 16,500 0 55| 16,500
2A78|A+yY EE 200 10| 2,000 0 10 2,000
2108 (7 ayal)— Fx 150 18] 2,700 18 2,700 0 0
28108 [4Fd B 300 62| 18,600 62 | 18,600 0 0
2R148[4Fd % 300/ 136[ 40,800 62 [ 18,600 74| 22,200
2B17H|[A4F3T Fx 300[ 127[ 38,100 77 | 23,100 50| 15,000
28178 (7 ayal)— Fx 150 22| 3,300 22 3,300 0 0
2218 |4F3 Fx 300[ 132[ 39,600 84 | 25,200 48| 14,400
28258 [4Fd % 300/ 120[ 36,000 64 [ 19,200 56/ 16,800
2A288 |4F3 Fx 300 67| 20,100 0 67| 20,100

H 245,900 136,200 109,700




3R T ERIRFTRER

35, — kAT HRE

1S5S IRFE(ES)

HR5EH m B Mr=Es| Hifi | 8| €% | 8E | % | 5 | £4 &5
SA2B|FR/INTHR R 100 14 1,400 0 14[ 1,400
3A28[(4FT Fx 300 62 | 18,600 48| 14,400 14 4,200
SA6H|FR/NTHR R 100 22 2,200 22| 2,200 0 0
3A6H[AFT Fx 300 85 | 25,500 30{ 9,000 55| 16,500
SAYH|FTRINTHR R 100 31 3,100 31| 3,100 0 0
3A9H[AFT Fx 300 84 | 25,200 83| 24,900 1 300

SAB|[FRINGHR R 100 19 1,900 0 19/ 1,900

3A13H[(4FT B 300/ 103| 30,900 80 [ 24,000 23| 6,900

SA13H|FR/ITHR R 100 34| 3,400 34 3,400 0 0

3A16H|A4FT Fx 300 55| 16,500 42 | 12,600 13[ 3,900

SA16H|F7R/ITHR R 100 22| 2,200 22 2,200 0 0

SA19B[FR/INSGHR  [IRIE 100 47| 4,700 30 3,000 17| 1,700

3A19H|AFT B 300 83| 24,900 35 [ 10,500 48 14,400

3A23B[F7R/INFHR IR 100 30{ 3,000 0 30[ 3,000

3A238[(4FT HE 300 | 135 40,500 81| 24300 54 16,200

&t 204,000 133,600 70,400




